

الطرح

س ١ : صل كل بطاقة بالإجابة الصحيحة :

$$6$$

$$5 - 2$$

$$3$$

$$6 - 6$$

$$0$$

$$7 - 1$$

س ٢ : جد ناتج ما يلي:

$= 3 - 6$	$= 9 - 9$	$= 1 - 4$
$= 1 - 1$	$= 5 - 9$	$= 2 - 8$
$= 5 - 8$	$= 0 - 7$	$= 4 - 8$
$= 4 - 7$	$= 2 - 6$	$= 1 - 5$

$\begin{array}{r} 8 \\ - 3 \\ \hline \end{array}$	$\begin{array}{r} 3 \\ - 3 \\ \hline \end{array}$	$\begin{array}{r} 9 \\ - 1 \\ \hline \end{array}$	$\begin{array}{r} 6 \\ - 0 \\ \hline \end{array}$	$\begin{array}{r} 5 \\ - 3 \\ \hline \end{array}$
---	---	---	---	---

الطرح

س ١ : صل كل بطاقة بالإجابة الصحيحة :

$$6$$

$$5 - 2$$

$$3$$

$$6 - 6$$

$$0$$

$$7 - 1$$

س ٢ : جد ناتج ما يلي:

$= 3 - 6$	$= 9 - 9$	$= 1 - 4$
$= 1 - 1$	$= 5 - 9$	$= 2 - 8$
$= 5 - 8$	$= 0 - 7$	$= 4 - 8$
$= 4 - 7$	$= 2 - 6$	$= 1 - 5$

$$\begin{array}{r} 8 \\ - 3 \\ \hline \end{array}$$

$$\begin{array}{r} 3 \\ - 3 \\ \hline \end{array}$$

$$\begin{array}{r} 9 \\ - 1 \\ \hline \end{array}$$

$$\begin{array}{r} 6 \\ - 0 \\ \hline \end{array}$$

$$\begin{array}{r} 5 \\ - 3 \\ \hline \end{array}$$